CAB—STD—07.DWG  03,/08/09

CAD FILE

REMOVE M16 x 50 SPLICE BOLT

TIMBER BLOCKOUT (FIELD CUT TO SHAPE
FROM TIMBER SUPPLIED BY ICP.)
ATTACH TO UPPER TRANSITION RAIL ONLY.

SUPPLIED WITH TRACC UNIT & INSTALL
M16 x 85 CONNECTING BOLT (2 PLACES)

PLAN

GALV. M16 x 75mm LONG

UPPER TRANSITION RAIL HEX HD COACH SCREWS,

UPPER CONNECTION

BRACKET

WITH GALV. FLAT WASHER.

3m NET LAYING LENGTH,

26m RADI CONVEX. (2 POSITIONS)

o >
-

=
i

M24 STUD ANCHORS (CHEMSET CAPSULES)
SECURING UPPER & LOWER CONNECTION
BRACKETS TO BARRIER (5 POSITIONS)
ONCE FASTENED CUT STUD EXCESS

BACK TO 5mm ABOVE NUT.

o

\\

™

TO INSTALL TRANSITION PANELS

THE TRANSITION PANELS MUST BE PLACED BEHIND THE

LOWER TRANSITION RAIL

LOWER CONNECTION

SPLICE BOLTS M16 x 32mm LONG WITH

2m NET LAYING LENGTH.

BRACKET

M16 OVERSIZE NUTS CONNECTING UPPER &

LOWER CONNECTION BRACKETS TO

ELEVATION

TRANSITION RAILS (16 POSITIONS)
CAST INSITU OR EXISTING
\

FENDER PANELS OF THE TRACC SYSTEM TO INSURE CONCRETE BARRIER
TRUBOLT STUD ANCHORS (B OTHERS)
PROPER FUNCTION OF SYSTEM. M16 x 150mm LONG SECURING
TRACC BACKUP FRAME TO ao
’F’ TYPE BARRIER 7 \ / 7
(4 POSITIONS)
(@on} [«om) TRACC BACKUP FRAME
NON—REINFORCED
CONCRETE PAD — 32MPa
(CONSTRUCTED BY OTHERS)
v ., v PR G G g
v o v v v v
v v v v N v N
L, vy v, v v ¥ v TV o, YT v o, s
v Co ¢ v . v . v
SECTION A—A
f PROJECT DATE ou\om\0© INGAL CIVIL PRODUCTS
W IMGAL EIVIL INGAL Civil Products SINGLE SIDED TRACC TRANSITION TO DRAWN 15 REFERENCE  No.
g DESIGNED
7 _u@u m 57—65 Airds Rood, Minta, NSW, 2566 Australia OOZ Ommlﬁm w>mm7 mm ICP
W m Mimnj%m 61-2-9827 3333, Facsimile 61—-2-9827 3300, Internet www.ingalcivil.com.au e CHECKED T,C. SRATING o
I =z % This awo,s:m%ﬂ ?MD%&MM”%HMWMG%MDaw&orﬁlx%z:omvow% Hmammw%ww%og RIGHT SHOULDER TRAFFIC MATERIALAS SHOWN
[0 [ INITIAL ISSUE V.S |03/08,/09 WAID UTDRI  or copied by any means or in any form without the prior permission of the owner. ﬁufr>Z >ZU E!m<>joz FINISH  AS sHOWN O>W\@%U\Ow
= Description Chkd] Date SCALE N.T.S REV.0




